Math 085 - Test 3a
October 17, 2013

Name ke%
<

Score

Part I - Solve each problem. Show all work to receive full credit. Supply explanations

where necessary. Each problem is worth 1 point.” CALCULATORS ARE ALLOWED onN
THIS PORTION OF THE TEST.

4
1. Use cross multiplying to find the missing number: 2—3 = 8% 33 X = asl (%8;)
amg [
K= ey e
2. Divide. Do not simplify your answer.
1_2_3? . id 88 | 3c0 |
13 EREER T
3. Find the prime factorization of 4095. a 099
5 8\ / 3
A qoq5~ 3%5-713
AN
3317 13

4. Determine four multiples of 379.
Q 7 -
379, 758, 1137, 56

5. Determine whether these fractions are equal. Show work or explain

74 N 407
142 & T3 813

r;;};‘.}a\‘g = »2‘90\(93 i
. A _ + Hor ¢ QuUAL .
Ao = 57Ty . |

f%{ -



Math 085 - Test 3b Name \(eﬁ

October 17, 2013 Score

Part II - Solve each problem. Show all work to receive full credit. Supply explanations
where necessary. CALCULATORS ARE NOT ALLOWED ON THIS PORTION OF THE
TEST.

1. (2 points) List all the positive factors of 18.

2. (3 points) Find the prime factorization of each number.

(a) 45 45
/N : [ a 7
°o=3 .
59 (15=3-5 |
33
(b) 252
asd r ~
] Q p
q/\aa [0}.3“7: 953)
AN
33 4717
N\
32

3. (2 points) There are 18 women in a office containing 27 people. What fraction repre-
sents the portion of people who are women? Write your fraction in lowest terms.

£ A
a7 = 3

-1
4. (1 point) Draw a number line and show the location of g

5
% (%
R
D SR i*"ﬂ‘:""i*-"-ﬁ'**-mé‘
O \ a



5. (6 points) Use the lelSlbllty tests for each of the following problems. Show work
or explain you reasoning! 8 MRS TR 0,3, Y, 6,®
(a) Circle each number that is d1v131b1e by 2.
{ 240 ! © 5505 .| 666 3693

U DL watn O o &S
P ————y
(b) Circle each number that is divisible by 5.

5761 4086

ENOS Wi T O
———
(c) Circle each number that is divisible by 10.

862 700,002 (553,39

, 5“"\ o 0\8\‘("‘ \T DwAIRLE gy 3
(d) Circle each number that is divisible by 3.

s @D @D @

| 3+ieg 1) 34343
B+A+6+3 - -
=9 =3 = al
=96 Sum
OF >
(e) Circle each number that ismebyg D\g\ﬁ N dwitiaie 8&3 C{
292 (80208)
84343 36 B+9+8 UL i3
€ =13 =/% =8

I

J—
(f) Circle each number that is divisible by 6. D\t &g 84 oA »53

530 3333 162
543 =8 _ 14643
= 9




6. (4 points) Completely simplify each fraction.

(o) o “E,.,.i

w8 6 3
240 ~ 5:‘_ = -—8—-— = | _q__
(c) o 3

9 4
7. (2 points) A triangle has a base that measures gm and its height is ™ Find the
area of the triangle.

A (00 - 2




8. (2 points) What is —g of 657

9. (6 points) Multiply and simplify. .

o’ r:c:i

L‘

o3 () [
3 Yo |

10. (2 points) Five-fourths of z is 10. Find z.

\O
80w
AN




11. (6 points) Divide and simplify.

@ 2+3 - %‘\.x & -
9 le
(b) -—12+§ = - L%, v i S‘“*ﬂm‘
\ 3 - 18]
( ¢ S
2 10 J N
(C)_V(_ﬁ) - é?x%\g . l?
3 5 15

12. (4 points) Solve each equation. Write your answer in lowest terms.

7 -2

(a) —=—v ..__5.:“’_7___ -
10 5 3 Lw> = Y —
3 =Sy
Y
(b) —z = -_3—4
_____.,._ME
Dwwe ay -\ 2 \
© Y
DL



Part III - Circle the best answer for each problem. Each problem is worth 1 point.
CALCULATORS ARE NOT ALLOWED ON THIS PORTION OF THE TEST.

1. Solve for z: % = —

(a)

(©
(@)

Il

2 Hy= 36
9
36 X =9
) .

8 8 8 8
[

Il

2. Which one of the these numbers is a composite number?

(a) 1
(b) 23
(c) 17

(@)39 3x\3

3. Which of these numbers is a multiple of 27?
@5 axaT=5Y
(b) 1 ‘

(c) 9
(d) 327

4. Which one of these numbers is prime?

(a) 21 3x7
(b) 99 9qx|
(c) 51 \Tx3

31 PQ.mg

5. The height of a triangle is 4 ft. The length of its base is 12ft. Find the area of the

triangle. '

(a) 48ft?
5 (0= § ) - o
(c) 16ft2

(d) 321t




